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Explanations and answers to select questions

12. Here the phrasal verb ‘go off’ has been brought in use, and so option ‘A’ is the correct
answer. All questions are framed within the purview of Oxford English Learner’s
Dictionary, 8th edition published in 2014.

24. In case of reciprocal pronouns, ‘each other’ is used when reference is made only to
two persons. And when it is made to more than two persons, (as in here, ‘all
students” which will naturally be more than two in number), we need to use ‘one
another’. So, option ‘D’ is the correct answer.

25. About omission of [‘s], and keeping only the apostrophe (‘) sign, the rules are as follows :
1. After all plural nouns ending in s, as in animals, houses, etc.
Whenever the last syllable of a singular noun (common or proper) begins and ends

in s as in Moses, Jesus, etc. So, Moses’ is correct and Moses’s is not. But, James’s is
correct and James’ is not. So, option (C) is the correct answer.

30. When the reporting verb in the direct speech is in the present tense (says), there is not
change of tense in the reported speech while transforming to indirect speech while
transforming to indirect speech the tense of the reporting verb (says) is never changed.

33. 1t his is a possessive and not a possessive pronoun whereas the 2" his is a possessive
pronoun.

35. Option (D) is the correct answer. Errors/corrections appear in brackets : Motorist
(Motorists) make there (their) way on a fogy (foggy) mourning (morning) today. or
Motorist make (made) there (their) way on a fogy (foggy) mourning (morning) today.

37. The questions are based on the given story. When comprehended properly, it is seen that
the answer lies in the last part of the 3rd paragraph and so option ‘D’ is the correct answer.

40. The question asks about ‘physical benefits’ declared, and that is only one, vigour. The
others are not ‘physical benefits’. Hence option ‘A’ : ‘One’ is the correct answer.
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